
g]kfnL ;]gf 
 

k|f=p=;]= -;}lgs Jof08_ kbsf pDd]bjf/ 5gf}6sf] ljljw laifosf] kf7\oqmd 
-v"Nnf÷cfGtl/s_ 

 

;doM− 1 #)^f 30 ldg]̂  
k")ff{° M− 50 
pQL)ff{° M− 20 

 
of] kf&\oqmd g]kfnL ;]gfsf] k|f=p=;]= -;}lgs Jof)*_ kbsf pDd]bjf/ %gf}̂  kl/Iffsf] nflu 

lgwf{/)f ul/Psf] xf] . k|f=p=;]= -;}lgs Jof)*_ kbsf pDd]bjf/ %gf}̂ sf] nflu ljljw laifosf] g]kfnL, 
c+u|]hL, ul)ft / ;fdfGo!fg ;DalGw ljifonfO{ cfwf/ dfgL k|Zgx? ;f]lwg] % .  
 
 -s_ lnlvt kl/Iffsf] dfWod g]kfnL÷c+u|]hL efiff x"g]% .  
 -v_ lnlvt kl/Iffaf^ %gf}̂  ePsf pDd]bjf/x?nfO{ dfq csf]{ r/)fsf] kl/Iffdf ;lDdlnt 

u/fO{g] % . 
 -u_ k|Zg kq lgdf{)f ubf{ ;Dej eP;Dd kf&\oqmddf ;dfj]z ePsf ;a} ljifox?nfO{ 

;d]̂ \g" kg]{% .   
-#_  g]kfnL ;]gfsf] tTsflng cfjZostf tyf ljljw kl/l:ytdf g]kfnL ;]gf cg"s"n x"g] 
u/L pNn]lvt ljj/)fx?df x]/km]/ x"g ;Sg]% . 
-ª_ kf&\oqmd nfu" ldlt M 2070÷ 04÷ 10  ut]b]lv . 

 

k|Zgsf] lsl;dk|Zgsf] lsl;dk|Zgsf] lsl;dk|Zgsf] lsl;d    c+sc+sc+sc+s    k')ff{°k')ff{°k')ff{°k')ff{°    pQL)ff{°pQL)ff{°pQL)ff{°pQL)ff{°    k|Zg ;+Vof k|Zg ;+Vof k|Zg ;+Vof k|Zg ;+Vof X    c+s c+s c+s c+s     ;do;do;do;do    

c+u|]hL 12=5 

50 20 
laifout -Subjective_ M 10X1=10 

a:t"ut -MCQ_ M 80X0=5=40 

1 #)^f 30 
ldg]̂  

g]kfnL 12=5 

ul)ft 12=5 

;fdfGo!fg 12=5 

    

    

        



v)* æsÆ c+u|]hLv)* æsÆ c+u|]hLv)* æsÆ c+u|]hLv)* æsÆ c+u|]hL    

k|Zgsf] lsl;d k|Zg ;+Vof X c+s hDdf c+s 
j:t'ut ax'j}slNks k|Zg -MCQ_ 15× 0=5 7=5 
ljifout k|Zg -Subjective_ 

1= %f]̂ f] pQ/ 
 

 
5× 1 
 

 
5 
 

s'n hDdfs'n hDdfs'n hDdfs'n hDdf    12=512=512=512=5    
 

1. Parts of speech  (1.5) 

- Noun, pronoun, verb, adjective 

2. Articles (1) 

- Use of  a, an ,the 

3. Tense    (1) 

- Simple present, past, future 

4. Prepositions  (1) 

- In, on, at location and time 

5. Spelling  (1) 

6. Synonyms, Antonyms  (1) 

7. Transformation   (1) 

- Affirmative into negative, negative into affirmative 

8. Comprehension Passage –(100 words) (5) 

a. Question answer       2 

b. Fill in the blanks       1 

c. True and False       1 

d. Multiple choice       1 

    
  



v08 ævÆ ul0ft 

 

k|Zgsf] lsl;d k|Zg ;+Vof X c+s hDdf c+s 
j:t'ut ax'j}slNks k|Zg 25 × 0=5 12=5 

s'n hDdfs'n hDdfs'n hDdfs'n hDdf    12=512=512=512=5    
 

! c+sul0ft (Arithmetic)  8=58=58=58=5  

k|ltzt (Percentage) ;DalGwt ;/n Jofjxfl/s ;d:ofx? 

gfkmf / gf]S;fg (Profit and Loss) ;DalGwt ;d:ofx?  

5'6 (Discount) / d"No clej[l4sf (VAT) ;DalGw ;d:ofx?  

cg'kft / ;dfg'kft (Ratio and Proportion) ;DalGw ;fwf/0f ;d:ofx?  

P]lss lgod (Unitary Method) ;DalGw ;/n ;d:ofx?  

;fwf/0f Jofh (Simple Interest) ;DalGw ;/n Jofjxfl/s ;d:ofx? -;'q k|of]u u/L ;dfwfg ug]{_ 

 

@= jLh ul0ft (Algebra)  $ 

a
2
-b

2
, a

3
+b

3
 / a

3
-b

3
 sf] ;"q k|of]u u/L jLhul0ftLo cleJo~hssf] v08Ls/0f 

d=;= (H.C.F) / n=;= (L.C.M.) kQf nufpg]– ljhul0ftLo cleJo~hssf] v08Ls/0f u/L_ 

    
v)* æuÆv)* æuÆv)* æuÆv)* æuÆ    g]kfnLg]kfnLg]kfnLg]kfnL    

    
k|Zgsf] lsl;d k|Zg ;+Vof X c+s hDdf c+s 
j:t'ut ax'j}slNks k|Zg -MCQ_ 15× 0=5 7=5 
ljifout k|Zg -Subjective_ 

1= %f]̂ f] pQ/ 
 

 
5× 1 
 

 
5 
 

s'n hDdfs'n hDdfs'n hDdfs'n hDdf    12=512=512=512=5    

    
;d"xM s;d"xM s;d"xM s;d"xM s    
    
1= 1= 1= 1= Jofs/)fJofs/)fJofs/)fJofs/)f                                                            0=5 0=5 0=5 0=5 ×    15 15 15 15 =    7=57=57=57=5    
-s_ j)f{ljGof;— zAb / jfSodf x|:j bL#{, rGb«ljGb", lz/ljGb", k')f{lj/fd, cNklj/fd, k|Zgjfrs, 

p¢/)f, lj:doflbaf]ws lrGxsf] k|of]u / klxrfg  2 
-v_ kb;ª\ult—jrg, lné / k"?if;u lqmofkb ldnfpg"kg]{       1 
-u_ lqmofsf sfn, ;fdfGo jt{dfg, ;fdfGo e't / ;fdfGo eljiot\sfnsf] klxrfg 2     
-#_ zAbe)*f/, kofo{jfrL, cg]sfy{s, ljk/Ltfy{s >"lt;dleGgfy{s zAb  2=5 
    
;d'xM v;d'xM v;d'xM v;d'xM v    



    
2= 2= 2= 2= af]w tyf cleJolQmaf]w tyf cleJolQmaf]w tyf cleJolQmaf]w tyf cleJolQm                                                                5 5 5 5     
-s_ ‘;o zAb a/fa/sf] Ps cg"R%]b lbO{ kf¤rj^f k|Zgx? ;f]Wg] . 

  
v)* æ#Æ ;fdfGo!fgv)* æ#Æ ;fdfGo!fgv)* æ#Æ ;fdfGo!fgv)* æ#Æ ;fdfGo!fg    

 
    

 
    
    
    

    

1= g]kfn ;DaGwL          16X0=5=8 

-s_ P]ltxfl;s -wd{, ;+:s[lt, hfthflt, efiff / d&dlGb/_ ;DaGwL ;fwf/)f hfgsf/L .  

-v_ ef}uf}lns -lxdfn, d"Vo d"Vo gbL, tfn, hg;+Vof, /fhdfu{, zx/, a:tL, c~rn, lhNnf, 
;b/d"sfd, ljsf;If]q cfbL_ ;DalGw ;fwf/)f hfgsf/L 

-u_ g]kfnL ;+uLt -afhf, w"g, ufos÷uflosf, ;+lutsf/ cfbL_ ;DalGw ;fwf/)f hfgsf/L 

2= g]kfnL ;]gf, z;:q k|x/L / g]kfn k|x/L ;DalGw     3X0=5=1=5 

3= v]ns"b -/fli «̂o / ;fs{ cGt/ut_ ;DalGw ;fwf/)f hfgsf/L   2X0=5=1 

4= ;fs{ ;DalGw ;fwf/)f hfgsf/L       2X0=5=1 

5= zflGt ;]gfdf g]kfnL ;]gfsf] ;+nUgtf / e'ldsf af/] ;fdfGo hfgsf/L  2X0=5=1 

 

  

k|Zgsf] lsl;dk|Zgsf] lsl;dk|Zgsf] lsl;dk|Zgsf] lsl;d    c+sc+sc+sc+s    k|Zgsf] ;+Vof / k|Zgsf] ;+Vof / k|Zgsf] ;+Vof / k|Zgsf] ;+Vof /     hDdfhDdfhDdfhDdf    

;fdfGo!fg 12=5 a:t"ut -MCQ_ M 25X0=5=12=5 
 

12=5 



 

gd"gf k|Zggd"gf k|Zggd"gf k|Zggd"gf k|Zg    
c+u|]hLc+u|]hLc+u|]hLc+u|]hL    

    
Choose the best answer from the alternatives given below. 

1. Mr Basnet sat ………. the table to do his work. 

a. at  b. in  c. on  d. nothing 

2. I waited for you……….the gate. 

a. in  b. at  c. on  d. nothing 

3. There is ……..visitor at the door. 

a. an   b. a c. the d. nothing 

 

ul0ft 

 

tn lbOPsf ljsNkx?dWo] ;lx ljsNkdf uf]nf] 3]/f -)_ nufpg'xf]; \ .  

!= tnlbOPsf ;d'xx? (Sets) dWo] s'g rflx+ ;Lldt ;d'x (Finite Set) xf]  

a. A={1,2,3,4,………)                      b. B={p,q,r,……….) 

c. R={m,n,o,p}                                 d= dflysf ;j} 

@= A={1,2,3} / B={3,4,5} b'O{ ;d'xx?df tnsf] s'g egfO{ 7Ls 5 .  

a. A∪B={1,2,3,4,5}                 b. A∩B={3} 

c. b'j} l7s 5g\             d. b'j} j]l7s 5g\ .  

    
g]kfnLg]kfnLg]kfnLg]kfnL    
    
----s_ Jofs/)f v)*s_ Jofs/)f v)*s_ Jofs/)f v)*s_ Jofs/)f v)*    
&Ls pQ/df lrGx nufpg"xf];&Ls pQ/df lrGx nufpg"xf];&Ls pQ/df lrGx nufpg"xf];&Ls pQ/df lrGx nufpg"xf];\\ \\....    0=50=50=50=5x15151515=7=57=57=57=5    
1= æ d}n] lstfa k(] .Æ o; jfSosf]  z'$ ?k s'g xf] < 

c= d}n] lstfa k(\of] . cf= d}n] lstfa k(\% . 
O= d}n] lstfa kl(g . O{= d}n] lstfa k(]¤ . 

2= z'¢ ZFAb s'g xf] < 
c= /fli «̂o cf= /f;^Lo O= /fi^Lo O{= /fzl «̂o 

3= æ/Ltf uLtf / gLtf !fgL %g\ .Æ o; jfSodf s"g lrGx %"̂ ]sf] % <’ 
c= rGb|ljGb" cf= lz/ljGb" O= cNklj/fd O{= k')F{lj/fd 

    
    

 


